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B THREREEALYE 2 —FE B BRRE
Yo 1 BFRES 7= 0 Ok (HANL M)
W34, | iy || s | BHEs |ReHESSE[O 2V ok
@O fEAR 100 150 100 200 200 200 100
@ HEEe 200 100 100 200 100 100
FHEHRAEE® (1/2) O O
@ o AR 100 50
miREZEAT 256 [ EABKOXER) + (WEREEHO XFHE) ] (HANL M)
e O i |h ey | e | BHEE [RHREE|V 2 VO
AR (DX 1) 100 150 100 200 200 200 100
1 |[4AEEE (@X1) 0 200 100 100 200 100 100
&t 100 350 200 300 400 300 200
fERE (DX2) 200 300 200 400 400 400 200
2 |ABEEE (@ 2) 0 400 200 200 400 200 200
&t 200 700 400 600 800 600 400
AR (DX 3) 300 450 300 600 600 600 300
3 |ABEEE (@ 3) 0 600 300 300 600 300 300
s 300 1, 050 600 900 1, 200 900 600
AR (DX 4) 400 600 400 800 800 800 400
4 |AEEEE (X 4) 0 800 400 400 800 400 400
s 400 1, 400 800 1, 200 1, 600 1, 200 800
HFHE (DX 5) 500 750 500 1, 000 1, 000 1, 000 500
5 |AEEE (@X5) 0 1, 000 500 500 1, 000 500 500
2 500 1, 750 1, 000 1, 500 2, 000 1, 500 1, 000
FEREL O H OGS [ HEND X REfE ] (HAS7 M)
e O i s ey | e | BHEE [REBEEE|V 2 VO
1 AR (DX 1) 100 150 100 200 200 200 100
2 |FEHE (Ox2) 200 300 200 400 400 400 200
3 |FEHE (DX 3) 300 450 300 600 600 600 300
4 |ERE (DX 4) 400 600 400 800 800 800 400
5 |FHE (DX5) 500 750 500 1, 000 1, 000 1, 000 500
HEOE S OH T 250 [ (@ XEH) + (MR X FEHE) ] (HLT )
iSai] X 53 WHE == W2 WD
AR (@X 1) 100 50
1 [WEEER (@X1) 200 100
il 300 150
HFRE (X 2) 200 100
2 |ABEEE (@Xx2) 400 200
it 600 300
EAEE (@X 3) 300 150
3 |[miEEE (@X3) 600 300
il 900 450
HFRE (X 4) 400 200
4 |AEEE (@X 4) 800 400
in 1, 200 600
AR (X 5) 500 250
5 |miEEE (@X5) 1, 000 500
in 1, 500 750




